ljﬂﬂ rH®EMA——|FER 1M |FEB 17W
15+100m +0. 3m +1km
A E% | EWEE | A2 RT SRR MEEIR = =
g #I0kmETROER |- _
NO1 | 10:20 e o | A R
NO2Z 10:40 WETREA0ERH Eﬂ\ﬁﬂlﬁtﬂwﬁﬁ
- Y I
ZRAVNELOTER |_ .o, -
NO3 11:00 |w—n#%spoTEST ;:Jnxgﬂ-béﬂ‘ e
(FIcEH)
. HA o FEEHLA (CCoRoBEOCS A
NO 4 11:20 1=dY LiE
RA L PETOERE | _
s (A} 113 =3
NOS5 11:40 FO—Z TR HERLTVSHLEA
TURTH—THE
e e F—a
A VOTHEE | o Tare
4f2# 108 118
FH2FEEFRFTF(OBLENERMER =A55——FIRERSM)
% -3 £ H—=nkm| #Efikm I3 B|RE—bkm| T—/lkm| Efihkm |F—Lkm| HWdikm | Bitkm {53 B4 T oL | BTN
1 1| W #3R 78059 -78088| 2 | ABRE TR | 115533 115.533| ~78174.5| of -781745 800 | o4L—ri—
6|3 X% B 44340F 44400 60| 4 1] 807 865 58| 118| o} 18| 1 910 1044 1:34
2 | s | BR #8 14395) 14454 59| 6 | BE X 5189| 5249 60) 119) o) el 2 902 1107 205
4 | 7| MR K% 29624| 29686 62 8 | HE 3R 35200 35264 64] 126| of 126 4 508 1057 151
5 |9 | WH HE 4340 -4340| 10 ; EEH WA 13390) 13390  -17730] of -17730] 608 | 24LA—s—
71| g B— 4140 4212| 72| 12§ BR % 22042| 23018 K 148 of 48 s 812 112 200
3 |13 4 Bm 13831)  13893] 62| 14| Pl BE 103 185, 62 124) 0| 124 3 904 10:49 1:45
8 | 22| &B EX 33345| 33418 73| 24| B B 267 345 78 15¢ 1 0f 6 914 11:15 201
[ 0 0| 1 0|
0 0 0| ol 0|
0| 0 0| ol 0|
0 o 0 o) 0|




